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( ) ( )= 20

[1 ] ( )1 ]
V=1t/4><d"2><h>x<f V=3.6>< (A/2)"3
d: d: = +
h: P888
f: ( 0.5 )
P507

) (cm) ) [« )| (em (cm) |( )

A 1 8 7.0 | 0.018 9 28 | 0.005
2 11 7.0 | 0.067 13 41 | 0.028
B 1 16 7.0 [ 0.070 18 57 | 0.038
3 18 7.0 | 0.267 20 63 | 0.154
1 21 7.0 | 0.121 23 72 | 0.077
¢ 1 24 7.0 | 0.158 26 82 | 0.113
1 35 10.0 | 0.481 40 126 | 0.412
’ 1 35 12.0 | 0.577 40 126 | 0.412

1.76 1.24
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)

FEP30 FEP40 FEPG65 CE3.5-3C CET14 CET60 EEF2.0-2C
m m m m m m m m
1 420 | A 1 420 1 420 1 420 1 420
2 430 A 1 43.0 1 43.0 1 43.0 1 43.0
3 407 | A 1 40.7 1 40.7 1 40.7 1 40.7
4 310 | A 1 31.0 1 31.0 1 31.0 1 31.0
5 205 | A 1 205 1 205 1 205 1 205
6 210 | B 1 21.0 1 21.0 1 21.0 1 21.0
7 36| C 1 3.6 1 3.6 1 3.6 1 3.6 1 3.6
8 10| D 1 1.0 2 2.0
9 218 | D 1 218
11 2 2.2
2.0 1 2.0
227.7 26.4 201.8 201.8 0.0 203.8 201.8 42
A 177.2
B 21.0
C 3.6
D 22.8
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W11700><D3700><H3294 1

© ® © @474;4444? | D ;ég\ - ’,
=1 = | A=
® HL‘ W%} i €¥k
H ‘ = = e = = .
UL =2, T
8 1 } 7=
® g I ~
'TJ T 1’ 22 A
- ® ) .
‘ e e -
it S - N ==
] ==
‘* B ;‘ ‘ =1 _ J;ié;
_ :J: I> ‘
i = = il
!L’ J! = ! ‘ﬂ
V1=(9.59*4.995+10.77*3.815+2*(10.77*4.995+9.59*3.815))*1.18/
6=53.05m3
53.1
A1=8.79*3.015=26.50m2
A2=0.20*(8.29+2.515)*2=4_32m2
A3=1.30"2=1.69m2
A4=0.35*0.55*3=0.58m2
A=26.50+4.32+1.69+0.58=33.09m2
33.1
V=53.05-(8.79*3.015*0.20+8.59*2_815*0.98+1.3072*0.15+1.20"2*
0.487)=23.10m3
23.1
V1=8.79*3.015*0.15=3.98m3
RC-40 t=100/t=1
50 V2=0.20*(8.29+2.515)*2*0.10=0.43m3
V3=1.30"2*0.10=0.17m3
V4=0.35*0.55*3*0.10=0.06m3
V=3.98+0.43+0.17+0.06=4.64m3
4.6

18



W11700><D3700><H3294

D10

DIO 0.56kg/m

L1=(1.20+0.787*2)*8*2=44_38m
L2=1.20*4*6=28.80m

L=44 _.38+28.80=73.18m
W=73.18*0.56=40.98kg

41.0 kg

D13

D13 0.995kg/m
L1=8.59%15%2+2 . 815*43*2=499 .79
L2=(0.50+1.15)*2*(43*2+10*4)=415 . 80m
L3=8.59%14*2+1 .815%14*4=342_16m

L=499.79+415.80+342.16=1257.75m
W=1257.75*0.995=1251.46kg

1,251.5 kg

A1=(8.59+2.815)*2*1.15=26.23m2
A2=((2.82+1.815%2)*2+1.815%6)*0.87=20.70m2

A2=(8.89+3.115)*2*0.43=10.32m2
A3=1.20%4*0.787*2=7.56m2
A4=(0.25+0.45)*2*0.20=0.28m2

A=26.23+10.32+7.56+0.28=44_39m2

44.4  m2

Fci18

V1=8.79*3.015*0.05=1.325m3
V2=0.20*(8.29+2.515)*2*0.05=0.216m3
V3=1.30"2*0.05=0.085m3
V4=0.35*0.55*3*0.05=0.029m3

V=1.325+0.216+0.085+0.029=1.655m3

1.66 m3

Fci18

V1=0.30*(8.29+2.515)*2*0.43=2.788m3
V2=(0.25*0.45-0.13*0.22)*0.20=0.017m3
V3=(2.82*1.815+1.815"2*2)*0.04=0.468m3

V=2.788+0.017+0.468=3.273m3

3.27 m3

Fc21

V1=8.59*2.815*0.28+(8.59*2+1.815*4)*0.50*0.87=17.402m3
V2=1.20"2*0.787*2=2.267m3

V=17.402+2.267=19.669m3

19.67 m3

19




W11700><D3700><H3294 1
A=2.82*1.815+1.815"2*2=11.71m2
11.7 m2
A=(1.15+0.15*2)*(8.59+2.815)*2=33.07m2
Y-1
33.1 m2
SUS N=2*3=6.0
@22
6
N=1
W11700><D3700>=<H
3294 1
D N=1
@14>1.5m 1

20




10

W300><H500>< L2000

F.L

25

500
450
300

EDO

F.L-680

A=0.645m2

50

50

500

50

50

700

F.L-600

Y,
S
s

9% %
S

A=1.408m2

m3

14.1

m2

7.0

m3

6.5

m3

0.4

m3

2.8

m2

3.0

m2

6.0

14.08m3

V=1.408*10.0

A=0.70*10.0=7.00m2

6.45m3

V=0.645*10.0

0.35m3

V=0.70*0.05*10.0

2.80m3

V=0.70*0.40*10.0

3.00m2

A=0.15*2*10.0

A=0.60*10.0=6.00m2

RC-40 t=400

t=150

21



W300><H500>< L2000

10

N=10.0/2.0=5.00

W300><H500><1L200 599kg
0

5.0

N=10.0/1.0=10.00

300 L=1000 52kg

10.0

22




500><150><620h

500

_ F.L-600

N\

F.L

F.L

150

620
820

I F.L-680

¢ %

100

620

Fcl8

100

RC-40

50 500 50
600

A=0.540m2

50

150

200

RC-40

V1=0.540*0.15+1.50*0.50*0.82=0.70m3

0.7 m3
A=0.60*0.20=0.12m2
0.1 m2
V=0.70-(0.60*0.20*0.10+0.50*0.15*0.62)=0.64m3
0.6 m3
V=0.60*0.20*0.10=0.012m3
RC-40 t=100
0.01 m3
A=(0.50+0.15)*2*0.62=0.81m2
0.8 m2
V=0.50*0.15*0.62=0.047m3
Fc18
0.05 m3

23




A

W600><H900 HGL2000 1
|
590 E 2.
: taa'noeo ] Z_M
JT* A ”GOOXHQO\U‘OSBDX\’JBBD fl
EE ; /
] u
Fcl18
S T
1200 650
V1=2.10*1.55*0.70=2.28m3
2.3 m3
A=1.20*0.65=0.78m2
0.8 m2
V=2.28-(1.20*%0.65*0.10+1.10*0.55*0.60)=1.84m3
1.8 m3
V=1.20*0.65*0.10=0.08m3
RC-40 t=100
0.1 m3
A=(1.10+0.55)*2*0.60=1.98m2
2.0 m2
V=(1.10*0.55-0.065*0.075*2)*0.60=0.357m3
Fcl8
0.36 m3
N=1
W600><H900 HGL2
000 1

24




B

W900><H900 HGL1800 1
1036
906 69 75
890 N 2.
t3B.R060 2-M4
I B! WQOOXHQO\ESQOXWHQO i
lin! |
sl 2 : :
I _ ///<
s ‘ Fc18 B
971 RC-40 |
600 600
2571
F.L-600
V1=2_571*1.60*(0.70-0.60)=0.41m3
0.4 m3
A=0.7072*2=0.98m2
1.0 m2
V=0.41-0.70"2*0.10*2=0.31m3
0.3 m3
V=0.7072*0.10*2=0.10m3
RC-40 t=100
0.1 m3
A=0.60*4*0.50*2=2.40m2
2.4 m2
V=(0.60"2-0.065*0.075)*0.50*2=0.355m2
Fc18
0.36 m3
N=1
W900><H900 HGL1
800 1

25




t=5cm 100 m2
|
a %7
o XN
(L C )
== e
(
(
(M-40)
(RC-40)
V=0.68*100=68.00m3
68.0 m3
A=100.0m2
RC-40 t=430
100.0 m2
A=100.0m2
M-40 t=150
100.0 m2
A=100.0m2
t=50 100.0 m2
A=100.0m2
t=50 100.0 m2

26




t=15cm 100 m2
|
PDUY
S 0
ok C )
S L)
| §§§§§§
(
(RC-40)
(RC-40)
)
V=0.60*100=60.00m3
60.0 m3
A=100.0m2
t=50
100.0 m2
A=100.0m2
RC-40 t=250
100.0 m2
A=100.0m2
RC-40 t=150
100.0 m2
A=100.0m2
t=150 100.0 m2
L=20.0m
20,0 m

27




100 m2

- )
o
o Lo
ERE: jss
o
T T
- L
(6 )
6
(RC-40)
V=0.18*100=18.00m3
18.0 m3
A=100.0m2
RC-40 t=100
100.0 m2
A=100.0m2
240g/m2 100.0 m2
A=100.0m2
H50
100.0 m2
6 A=100.0m2
=80

100.0 m2

28




150><150>< 600 10 m
|
150
150%150%600(
G.L // F.L(
P 1:3
o Fcl8
L 5.0 [
RC-40
50/ 150
50 200
250
V1=0.70*0.60*10.0=4.20m3
4.2 m3
A=0.25*10.0=2.50m2
2.5 m2
V=4.20-(0.25*0.34+0.20*0.11+0.15*0.15)*10.0=2.91m3
2.9 m3
V=0.25*0.34*10.0=0.85m3
RC-40 t=340
0.9 m3
A=0.10%2*10.0=2.00m2
2.0 m2
V=0.20*0.10*10.0=0.200m3
Fcl8
0.20 m3
V=0.20*0.01*10.0=0.020m3
1 3

0.02 m3

29




150><150><600

10

150><150><600

N=10.0/0.6=16.7

16.7

30




FEP50 10
V=0.50*0.30*10.0=1.50m3
1.5 m3
V=0.50*0.30*10.0=1.50m3
1.5 m3
L=10.0%2=20.0m
FEP50><2 FEP50><2
V=0.0027m3/m 20,0 m

31




W150><H800><L9300

Co

V=0.15*0.80*9.30=1.12m3

1.1

m3

32




1100><800><500h

V=1.10*0.80*0.50=0.44m3

0.4

m3

V=1.10*0.80*0.50=0.44m3

0.4

m3

33




1500><1800><830h 1
|
7 250 | = 7‘
a3 || |0
[ — ]
R = |
g [ S ‘ Y
' B 1 I
‘ 400 ‘zuu‘ 600 ‘zuu‘ 400 ‘
V1=0.70*1.50*0.10+0.37*0.20*0.73*2=0.21m3
Co
V2=(0.40*1.50*0.10+0.25*0.15*0.40*2)*2=0.18m3
V=0.21+0.18=0.39m3 0.4 m3
V=(0.60*1.30+0.40*1.10*2)*0.15=0.25m3
Co
0.3 m3

34




A

FEP40/FEP65 10 m
W=150/
G.L
o FEP65
o
Ln o
(oo)
™
500
FEP40
V1=0.50*0.385*10.0=1.93m3
1.9 m3
V2=1.93-(0.054"2*T11/4+0.085"2*11/4)*10.0=1.85m3
1.9 m3
L=10.0m
W=150mm
10.0 m
L=10.0m
FEP40
10.0 m
L=10.0m
FEP65

10.0 m

35




B

FEP40/FEP65 10 m
|
F.L
W=150/
o
o
O
Lo
o
N~
FEP65
n
(qp]
(9\]
500
FEP40
-1 F.L-180
V1=0.50*(0.735-0.18)*10.0=2.78m3
2.8 m3
-2 F.L-600
V=0.50*(0.735-0.60)*10.0=0.68m3
0.7 m3
-1 V2=2.78-0.50*0.235*10.0=1.61m3
RC-40
1.6 m3
V=(0.50*0.235-(0.054"2*11/4+0.085"2*11/4))*10.0=1.095m3
1.10 m3
L=10.0m
W=150mm
10.0 m
L=10.0m
FEP40
10.0 m
L=10.0m
FEP65
10.0 m

36




C

FEP30/FEP40/FEP65 10 m
|
F.L
W=150/
o
o
© FEP65
FEP30
FEP40
F.L-600
V=0.50*(0.735-0.60)*10.0=0.68m3
0.7 m3
V=(0.50*0.235-0.040"2*11/4-0.054"2*11/4-0.085"2*11/4)*10.0=
1.083m3
1.08 m3
L=10.0m
W=150mm
10.0 m
L=10.0m
FEP30
10.0 m
L=10.0m
FEP40
10.0 m
L=10.0m
FEP65
10.0 m

37




FEP30 10 m

F.L

W=150/

600

FEP30

690

190

500
F.L-600
V=0.50*(0.69-0.60)*10.0=0.45m3
0.5 m3
V=(0.50*%0.19-0.04"2*11/4)*10.0=0.937m3
0.94 m3
L=10.0m
W=150mm
10.0 m
L=10.0m
FEP30

10.0 m

38



H5830 1
|
s { |
00
: mig
% ‘ ;pTlKiB(J.UB xt4.5
P G.L
; ) 100x70 ‘ \ 850
s r % ‘7 gﬁ 100x70
EDL RC-40
V=0.85"2*11/4*0.10=0.06m3
RC-40 t=100
0.1 m3
L=1.1m
@850
1.1 m
V=(0.85"2*T11/4-0.1398"2*T11/4)*1.00=0.552m3
Fcl8
0.55 m3
N=1
H5830
1
N=1
900>=<500
1
D N=1
@14>1.5m 1

39




A

600><600><750h

60 @600 60

1
~

1 | 0 us) f
ol jﬁ 2
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s ~

60 60 RC-40

50 A=720 50

F.L-600
V1=1.72"2*(1.06-0.60)=1.36m3
1.4 m3
A=0.8272=0.67m2
0.7 m2
V2=1.36-(0.82"2*0.10+0.7272*(0.96-0.60))=1.11m3
1.1 m3
V=0.8272*0.10=0.07m3
RC-40 t=100
0.1 m3
N=1
600><600><750h
1
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B

200><200< 250h 1
|
B-1 B-2
G.L | F.L
|
g Lé i ;Q . 1 (L
o 500 200 |50
| RC-40
300
XL l NES
500 200 |50
RC-40
300
-1 V1=1.2072*0.65=0.94m3
0.9 m3
-2 F.L-180
V2=1.20"2*(0.35-0.18)=0.24m3
0.2 m3
A=0.30"2=0.09m2
0.1 m2
-1 V3=0.94-(0.3072*0.10+0.2072*0.25)=0.92m3
0.9 m3
-2 V4=0.24-(0.30"2*0.10+0.20"2*(0.25-0.18))=0.23m3
0.2 m3
V=0.30"2*0.10=0.009m3
RC-40 t=100
0.01 m3
N=1
200><200><250h
1
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W90 ><D45><H500 1
|
i
V1=1.09*1.045*0.35=0.40m3
0.4 m3
V=0.40-0.09*0.045*0.35=0.40m3
0.4 m3
N=1
W90><D45><H500
1
D N=1
@14>1.5m 1
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4000><3100><2725h

12013 Prasiso

hhhhh

013 150

V1=(5.23*6.61+7.51*4 .33+2*(7.51*6.61+5.23*4 .33))*2.28/6=
80.43m3

80.4 m3
A=4.20*3.30=13.86m2
13.9  m2
V=80.43-(4.20*3.30*0.15+4.00%3. 10*0. 25+0.3072/4*Tr*2.105%6+
3.685*2.00*(2.28-0.40))=60.50m3
60.5 m3
V1=4.20*3.30*0.10*2=2.77m3
RC-40 t=100
V2=0.50*0.85*0.10=0.04m3
V=2.77+0.04=2.81m3
2.8 m3
D10 0.56kg/m
D10 L=((0.30-0.07*2)*Tt+0.40)*25*6=135. 40m
W=135.40*0.56=75.82kg 75.8 kg
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4000><3100><2725h

D13

D13 0.995kg/m
L1=(2.575-0.07*2+0.40*2)*6*6=116.46m

L2=(3.10-0.70*2)*26*2*2=176.80m
L3=(4.00-0.70*2)*20*2*2=208.00m

L=116.46+176.80+208.00=501.26m
W=501.26*0.995=498.75kg

498.8

( )
Al=(4.20+3.30)*2*0.05*2=1.50m2

( )
A2=(4.00+3.10)*2*0.25+(4.00+3.10)*2*0.22=6.67m2

A3=(0.40+0.75)*2*0.12=0.28m2

8.5

m2

300

A=1.50+6.67+0.28=8.45m2
L=2.1

1.
2.105*6=12.63m

12.6

Fci18

V=4.20*3.30*0.05*2=1.386m3

1.39

m3

Fci18

V=0.40*0.75*0.12=0.036m3

0.04

m3

Fc21

V=4_00*3.10*0.25+(4.00*3.10-(0.45"2+0.60"2*2)*11/4)*0.22+
0.3072*11/4*2.105=5.817m3

5.82

m3

4000><3100><2725h

N=1
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W900><L12000

FL-2074
FL-600
V1=0.90*(2.074-0.60)*6.5*2+(3.17"2+3.17*1.92+1.92"2)*1.25/3=

25.50m3 25.5 m3
A=0.50*12+1.0272=7 .04m2
7.0 m2
V=25.50-(0.50*1.00*12+0.40*0.40*12+1.02"2*0.10+0.92"2*1.15)=
16.50m3
16.5 m3
V=1.02722*0.10=0.10m3
RC-40 t=100
0.1 m3
N=1
W900><L1L12000
1
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